

26A

$$\frac{6!}{n_1!n_2!n_3!} x^{n_1} \cdot x^{n_2} \left(\frac{2}{x}\right)^{n_3} = \frac{6!}{n_1+n_2+n_3!} x^{n_1} \cdot (2x^{-1})^{n_3} \quad \text{סדרה מולטנומיאל (I)}$$

$n_1+n_3=0$. 0 וזה x על המספרים של 2 ו-3
 $0 \leq n_1, n_2, n_3 \leq 6$ קנוני

$n_1=n_3=2$ $n_1=n_3=0$ $n_1=n_3=1$ $n_1+n_2+n_3=6$
 $n_1=n_3=3$ $n_1=n_3=1$

| | | | |
|-------------------------------------|-------------------------------|----------------------|-----------------|
| $\frac{6!}{1!4!1!} \cdot 2^1 = 60$ | $\frac{6!}{0!6!0!} 2^0 = 1$ | $n_2=6$ $\sqrt{2}$] | $n_1=n_3=0$ קנל |
| $\frac{6!}{3!2!0!} \cdot 2^3 = 160$ | $\frac{6!}{2!2!2!} 2^2 = 360$ | $n_2=4$ $\sqrt{2}$] | $n_1=n_3=1$ קנל |
| | | $n_2=2$ " | $n_1=n_3=2$ " |
| | | $n_2=0$ " | $n_1=n_3=3$ " |

$1 + 60 + 360 + 160 = 581$ קנוני

$$1 \leq \frac{T_{k+1}}{T_k} = \frac{\binom{50}{k} 50^{-k} (\sqrt{2})^k}{\binom{50}{k-1} 50^{-(k-1)} (\sqrt{2})^{k-1}} = \frac{50!}{k!(50-k)!} (\sqrt{2})^k \cdot \frac{(k-1)! (51-k)!}{50!} (\sqrt{2})^{k-1} = \frac{51-k}{k} \cdot \sqrt{2} \quad \text{(II)}$$

$k \leq 51\sqrt{2} - \sqrt{2} < \rightarrow k(1+\sqrt{2}) \leq 51\sqrt{2} \rightarrow k \leq \frac{51\sqrt{2}}{1+\sqrt{2}} \rightarrow k \leq 29.8$

$T_{30} = T_{29} = C_{50}^{29} (\sqrt{2})^{29}$ סדרה מולטנומיאל $k=29$